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	����� ����� ��������� ����������� ��  � !����� ��� �� "��# ���$��%�� �&���  � '��( !� �� )��*� +��#� ,$��% -������. /��#�� �
��� 
� ��� �&���� �� ��
-0�$� �%�� �&� �� ��$� �1� �� -�� �%�2.  � ���� ��� �
� �� �� 3��� �4 �
� ��� ���!� �5� ��� ��� �� θ 
� ��� ������ �( ���� �� �� -{f(x; θ) : θ ∈ Θ}

6 !� �#�� �5� �� +� ��� �7� �� !� �� 8�� ��9� �:� �;� 3)� �*� �$� �4 +� ��� ��� �1� �� <� �#�� �� . =�� �5� ��� 6 2�� ��� ��  � /� �>� �? !� ���� ��� �� @� �5� �� 	� �7� �1� �#
��!� ���� ��� �� @� �5� �� �� �� ���� ��. /���� �A� ��� �� -)��*� !� ���� ��� �� @� �5� ��  � 	��B��C� �&� �� ��$� �1� �� 
� �� 	� �7� ��� �>� �� !� �� ���� ��. ��� �%�/� ��� �A� ��� ��
��$� �1� �� +� ��� ��� �1� �� !� �� 	� ��6�� �� )� ��� �D� ��� �� �
� ��� �7� �� 6 ���!� ���� ��� �� 	� �*� �� �� $� �7� ���� �� 
� ��� �#� 	� ��
� �� �� �� ��� -$� �7� �#�� �� )� ���� �E
!� ���� ��� �� @� �5� �� ���$� �7� �7� �� +� ��� ��� �1� �� <� �#�� �� . F� �#�� ��� �� /� ��� �� �� !� �G� �A� �� -)� �
� ��� �� <� �#�� �� . =�� �5� ���  � /� �>� �? �� �%��$� �%�� �&� ��

3)��*� =���*���� ���!������>���� ����%�/�����A������ !��� ������. ����%�/�����A������ 6 !��#���5��� +�����7����+��#� H)��*�
2�� ��� �� 2. ��� �%�	� ��I� �#6  � 	� ��
� �� ��
� ��� �% !� �� -���!� ���� �>� ��� ��� ��� ��� ��� )� �>� �
� �� 2�� �� . �$� ��� ��� !� ���� ���2�� �#�� �( +� �#� ��
��!�������� �� ��� �$���� ���� 2���� . ���� �� 2. 6 2����� �� �� 	��J����B��� ���!����� �>� ��� ��������� ��� )��>� �
��� 2���� . '��K��* 3����4�	���
6� �� �� �� 	� �J��� �B� �� ���!� ���� �>� ��� ��� ��� ��� ��� )��>� �
� �� 2�� �� .  � 	� �#�� �%�
� ����� �� �� ��� �� 
� ��. �� 3@� ��� �7� ���	� �� !� �
� �#�� �L� �� )� ���� �E

3��� @�����%����� M
��4 ����N���



:��&���;��� �������7���

< ���/����)��
 �������7���

= ���8��&�� >�������?��% � @��8��/���A��� 3
O 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3  ������� ������ 	�������������� ����#���P��? 6 Q��#����1��� R3R
S 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 �
�����������( ����%�T
��J 2���� . U3R
V 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 2���� . +��#
����2�����
��( R3U3R
V 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 	��#������7�����*�� )��>��
��� 2���� . U3U3R
RR 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 ���!������>���� 2���� . W3R

3=  �����&���'��
� (���)��*��+� ���'��,��
 �-���.� 6
RO 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 ���!������>���� ������������ )��>��
��� 2���� . R3U

��������� ��� )��>� �
��� 2���� . ����%�2�
��� 6 =6� 6 �6� X���� ����%���:��� ��������� ��� +���� �� Y���>� ���� U3U
RS 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 ���!������>����
UU 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 
�����A������ ��!��B��C��&��� �������� W3U
UZ 3 3 3 3 3 3 3 3 ���!������>���� ������������ )��>��
��� 2���� . �� ���%��!���������� ��$��1��� +���������������� �������� [3U
W\ 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 �$��4 �$��#
��� ���!������>���� 2���� . ]3U

4B ��������$��%  �����&���'��
� (���)��*��+� ���'��,��
 �-���.� 4
[\ 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 2���� . +��#
����2�����
��( 6 !���^��
��� 	��A��� �����������* R3W
][ 3 3 3 3 3 3 3 2. ����%�	���I��#6  � 	���
��� 6 	��J����B��� ���!������>���� ������������ )��>��
��� 2���� . U3W

Q����



O\ 3 3 3 3 3 3 ���%�6������&��� ��!��>��*������� 6 "��# ������������ ���� �
�������!���������� 2���#���( R3U3W
@� �5� �� +� ��� ��� ���� ��� �� �� ���� �� 6 
� ��� �A� ��� �� ��!� �B� �C� �&� �� �� ���� �� ��
� �� $� ���6 ��� �%�_� �#
� �L� �� U3U3W

Z\ 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 /��� ��!����������
ZS 3 3 3 3 3 3 3 3 3 3 3 3 3 �$��4 �$��#
��� 	��J����B��� ���!������>���� ������������ )��>��
��� 2���� . W3W
SU 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 	��J����B��� ���!������>���� ������������ )��>��
��� 2���� . �
��� ����� [3W
SW 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 F���
��� ����%�!��
������ )�����D������ 2����� . R3[3W
SS 3 3 3 3 3 3 3 3 !�����D��; 
��% �� 	��(���� ����%�`��A��a ��$��1��� +���������������� 2����� . U3[3W

54  ���%-��8��C�������  ���/��������
���! >��&�

335 ���,��8��D�����
� ���! ���������  ��������
��E�� F

36= ��������� ���! ���,��8��D�����
�  ��������
 �E�� G

34H I��������

b



���/�J������ �������7���
�� �#�� �� �� �%Mi !� �� 	� ���� �� -k = kmin − R, kmin, kmin + R ��
� �� p 
� ���
� �� �� 2��� �� ����� ��� �� R3W

]R 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3$��7��4���� !�����4�� p 6 r\ ����%�
�����������( ���� ���!��A�����c6�
�� �# �� �� �� �%Mi !� �� 	� ���� �� -k = kmin − R, kmin, kmin + R ��
� �� λ\ 
� ���
� �� �� 2��� �� ����� ��� �� U3W

]U 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3$��7��4���� !�����4�� λ\ 
�����������( ���� +��*����(
	��*$��7��% ���# ���� ���%Mi !��� 	������� -k = kmin −R, kmin, kmin +R ��
��� R

p 
����
��� �� 2����� ���������� W3W
][ 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3$��7��4���� !�����4�� p 
�����������( ����
]V 3 3$��7��4���� !�����4�� p 6 r\ ����%�
�����������( ���� ���!��A�����c 6� ���#���� ���%Mi !��� 	������� -Ksim 6 kmin ���������� [3W

λ\ 
���� ������ �( �� �� +��*����( ���#�� �� �� �%Mi !��� 	����� �� -�$��4 � ���*�!� ��� �>� �4 OC(θ) 6 	��>� �#
� �L� �� OC(θ) �������� �� ]3W
Z[ 3 3 3 3 3 3 3d�$��4 � ���*�!�����>��4 OC(θ) =′ · · ·′ 6 	��>��#
��L��� OC(θ) =′ eee′f 3$��7��4���� !�����4��

6 U\ ����%
�����������( ���� ���!��A�����c6� ���# ���� ���%Mi !��� 	������� -θ 
����
��� �� M̄(K) 6 Eθ[M(K)] ���������� O3W
S\ 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3$��7��4���� !�����4�� p
S\ 3$��7��4���� !�����4�� λ\ 
�����������( ���� +��*����( ���# ���� ���%Mi !��� 	������� -θ 
����
��� �� k̄(sim) 6 Eθ[K] ���������� Z3W

����c6 b������1��� F���
��� R\ -!����� [R +������ ��f RW3W �6$��c !��� !��c���� ���� �6� ��!��A���
��� �� F���
��� ����%�!����� S3W
SO 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3d����

g



���/�(����� �������7���
]\ 3$��7��4���� !�����4�� p 6 r\ ����%�
�����������( ���� ���!��A�����c6� ���#���� ���%Mi !��� 	������� -]3R3W ����N��� ��
��� kmin R3W
]U 3 3 3 3 3$��7��4���� !�����4�� λ\ 
�����������( ���� +��*����( ���# ���� ���%Mi !��� 	������� -O3R3W ����N��� ��
��� kmin U3W
]W 3 3 3 3 3 3$��7��4���� !�����4�� p 
�����������( ���� 	��*$��7��% ���# ���� ���%Mi !��� 	������� -Z3R3W ����N��� ��
��� kmin W3W
]O 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3Mi ���# ���� ����%
�����������( [3W

����%�
���� �������( �� �� ���!� �A� ��� �c 6� ���#���� �� �%Mi !��� 	����� �� RSPRT ��
��� �$��4 � ���*�!� ��� �>� �4 M(K) 6 K ]3W
]Z 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3$��7��4���� !�����4�� \h S 6 U\
]S 3$��7��4���� !�����4�� U 
�����������( ���� +��*����( ���#���� ���%Mi !��� 	������� RSPRT ��
��� �$��4 � ���*�!�����>��4 M(K) 6 K O3W

\h S 
� ��� ������ �( �� �� 	� �*$� �7� �% �� �#�� �� �� �%Mi !� �� 	� ���� �� RSPRT ��
� �� �$� �4 � �� �*�!� ��� �>� �4 M(K) 6 K Z3W
]S 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3$��7��4���� !�����4��

�� �# �� �� �� �%Mi !� �� 	� ���� �� M(K) 6 K ���$� �4� � �� �*�!� ��� �>� �4 
� �#��� �L� �� +� ��� ��� ���� ��� �� 6 ��� �i� ��� ��� ���� �� 
� �#��� �L� �� S3W
ZO 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3$��7��4���� !�����4�� p 6 U\ ����%
�����������( ���� ���!��A�����c6�

�� �# �� �� �� �%Mi !� �� 	� ���� �� M(K) 6 K ���$� �4� � �� �*�!� ��� �>� �4 
� �#��� �L� �� +� ��� ��� ���� ��� �� 6 ��� �i� ��� ��� ���� �� 
� �#��� �L� �� V3W
ZZ 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3$��7��4���� !�����4�� \h ] 6 r\ ����%
�����������( ���� ���!��A�����c6�

�� �# �� �� �� �%Mi !� �� 	� ���� �� M(K) 6 K ���$� �4� � �� �*�!� ��� �>� �4 
� �#��� �L� �� +� ��� ��� ���� ��� �� 6 ��� �i� ��� ��� ���� �� 
� �#��� �L� �� R\3W
ZS 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3$��7��4���� !�����4�� λ\ 
�����������( ���� +��*����(

�� �# �� �� �� �%Mi !� �� 	� ���� �� M(K) 6 K ���$� �4� � �� �*�!� ��� �>� �4 
� �#��� �L� �� +� ��� ��� ���� ��� �� 6 ��� �i� ��� ��� ���� �� 
� �#��� �L� �� RR3W
ZV 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3$��7��4���� !�����4�� p 
�����������( ���� 	��*$��7��%

-
� �j�� �7� ��� �� M̄(K) 6 k̄sim �� �� �$� �4 �$� �#
� �� RSPRT ��
� �� �6� X�� �� ��� �:� �� ��� ��� ��� ��� 6 2��� �� ��6.
� �� RU3W
SU 3 3 3 3 3 3 3 3 3 3 3 3$������ +��*����( 6 	��*$��7��% -���!��A�����c6� ���# ���� _������
����!��� ���%Mi !��� 	������� 

k



6 a(α,β) = −[h [VVS -β = \h \R -α = \h R\ �� �� dW[3Wf RSPRT  � �6� ��
� �c� RW3W
SO 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 b(α,β) = Uh UVU]

6 a(α,β) = −[h [VVS -β = \h \R -α = \h R\ ���� dW[3Wf RSPRT  � -/��L�����
��� ����%�
��c� R[3W
SZ 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 b(α,β) = Uh UVU]
V\ 3 a(α,β) = −b(α,β) = −Uh V[[[ 6 α = β = \h \] ���� dW[3Wf RSPRT  � �6� ��
��c� R]3W
VR a(α,β) = −b(α,β) = Uh V[[[ 6 α = β = \h \] ���� dW[3Wf RSPRT  � -/��L�����
��� ����%�
��c� RO3W

l



���/����)��


���/����)��
 �������7���
���K��A��L M��8��
-��% ����)��

R3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 ���!������>���� ������������ )��>��
��� 2���� . SPRT

W 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 	��J����B��� ���!������>���� ������������ )��>��
��� 2���� . RSPRT

O 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 	��m���# � $������� E[.]

O 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 t ��!��:��L��� �� X �6������&��� $������� �������� MX(t)

Z 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 ���$���������*� �����
��� ���# ���� �������� Φ(.)

Z 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 ���# ���� ����� ∼

Z 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 ������������ �� 	��#�
��������% p−→

Z 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 ���# ���� �� 	��#�
��������% d−→
S 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 �6� X���� ����:��� ������������ α

S 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 =6� X���� ����:��� ������������ β

S 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 2���� . �������� φ(.)

S 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 2����� �������� π(θ)

S 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 
�����A������ ��!��B��C��&��� �������� OC(θ)

S3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 n
��#o��( !���������� C̄

S 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 d	����
������ !����������f �� !���������� C

V 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 2���� . +��#
����2�����
��( MPT

R\ 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 )�������7��G��# 2���� . +��#
����2�����
��( UMPT

R\ 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 	��#������7�����*�� �������� L(θ; .)

p



R\ 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 ����7��G��# 	��#������7�����*�� )��>��
��� MLR

R[3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 '������# ��6 V ar[.]

RZ 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 �
����
��� q��� )�����* ��!��:����� ��
��� $��#$��c �������� 	��J
��1��� =:

RZ 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 � ���@��% ≡

U\ 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 ���� 
����
��� 8���>��#
��L��� �

UZ 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 ���%�!���������� ��$��1��� +���������������� ASN

[U 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 	��#������7�����*�� )��>��
��� Λk,m(k)

[V 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 p 6 r ����%
�����������( ���� ���!��A�����c6� ���# ���� Bin(r, p)

]R 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 ν +���������������� ���� +��*����( ���# ���� Poi(ν)

]W 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 p 
�����������( ���� 	��*$��7��% ���# ���� Geo(p)

O\3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 ������������ ����P��J P

Z] 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 /����
��� ��$��1��� +���������������� ANS

Z] 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 /��� ��!���������� @��5��� +���������������� ATSS

M
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 � 	� �1� ��� �*6 ��!� �7� ���� ��
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���!� ���� �#�� ��� �%�!� �G� �>� �4 )���� �7� ��� v��L� �� 6 	� ���� �� 0�� ��� �m�� �# � -	� �7� ��� ���� �� ��� �%�<��#�� �� . 2�� �{� ��� �% ���� ��. 0�� �L� ��� �L� ��� ��

3)��*� ��
��� 	��J
��1���
��� �%�2�� �� . �� ��� -)� �*� !� ��� �m
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� �J$� �7� �� ���!� ���� �>� ���
�� sZt R[	����6�
��#6 6 =���� -RVZZ ����* �� sURt RW2|������ -RV]\ ����* �� s[t RU}����� ��� ���. !� �� 2������	���
�� sRU -RRt RO2���� �G� ��� �% 6 +� ��� ���� �� ��� -RVVS ��� �* �� sW\ -UVt R]	� �G� �
� �J�� �� �� ����� �� -RVV[ ��� �*
+���� �7� �{� ��� �% 3�
� �� ���� �4� -U\\W ��� �* �� sWRt 2���� �G� ��� �% 6 	� �G� �
� �J�� �� �� ����� �� 6 U\\\ 6 RVVV ��� �%���� �*
!��� 2������	��� -�����. 
��;���1��� ����%�!��7������  � 	���
��� �� ���!������>���� n6� ���I��#6 ����%�
��� ����� 
��� 	���������c� �������� ��
���
-sOt RS26��� �� -sWt RZ=�� �%�
� ��. ~�
� �� !� �1� �c�
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� �# �� �c�
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��5���$��7��� ���$��4����# ����
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��� ��� �$���� ���%��6
���  � 	���
��� �� 	��%����
+� �#� 3��
� ���	� �� 	� �J
� �1� �� (RSPRT ) 	��J��� �B� �� ���!� ���� �>� ��� ��� ��� ��� ��� )��>� �
� �� 2�� �� . 0��� �; +��#� �� H$� �7� ��� �
� �%
=���* /��B��J �� �� 2. 6 )��*� �$��4 	��J
��1��� U\\S ����* �� sUWt U[����A�����*� 6 ����%����(�������� `��*���� 2���� .

������� �w��� ����
��? !��� ���>��*  � ������7��%�� ��
��� !��� 	������� -"�����J�
��� 2���#
��c "��# �� ����N��� ������!��� 3��� @�����%����� M
��4
26$��� ��� �%6���� �� ��$� �1� �� 6 (Mi) �$� �4 Q��?�� ��� �� ��� �%6���� �� ��$� �1� �� 	� �B��C� �4 )��*� +��G� ��� �� -$� �%��	� �� �����
!��� )��4�� )��?� $��#�� �� ����N� �� +��#� �� 3$��7� �� )��>� �E i = R,U, · · · !��� 	����� �� �� (Mi∑

j=R
Xij) @����� �* ����
��� ��
���

+� �G� ��� �� �� �%6���� �� 2�� ���� ��� �% Q� �?�� �� �� �� ��� -)� �*� ��� �L� �1� �� ���!� ���� �>� ��� 0��� �;�!� �� �� �%Mi !� �� 2��� �$� �� !� ��
� ��
 � "��# 
� �% ��
� �� !� ���� �� �$� �c ��� ���!� �� -Xij = \ ���# R !� �� �� ��
� �� ��� �%���
� ��  � ���!� ���� �>� ��� ��� �%����� )��>� �E )��*�

3$��4���>��� 
��#o��(�2���G���� ���%�2.
�� 3)��*� �$��4 2������� !������6� Q��#����1��� 6 @�����%���D��� �6� /��B��J �� 3)��*� /��B��J !��* /������4 !������� 2���#���( +��#�
�� 3$� �4 $� �%��� �� 	� �*�
� �� 2. ��� �%�	� ��I� �#6  � 	� ��
� �� 6 M
� �:� �� ���!� ���� �>� ��� ��� ��� ��� ��� )��>� �
� �� 2�� �� . -=6� /��B� �J
-=���* /��B��J �� 3����4�	��� 2������� �$��4 �$��#
��� ���!������>���� ������������ )��>��
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��(�6
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� �#�� �L� �� )� ���� �E ��!� ���� ��� �� �� �$� ��� �� �� 2�� �� . +� �#
� ��� �u� �� �� �� 6 	� �J
� �1� �� 	� �J��� �B� �� ���!� ���� �>� ��� ��� ��� ��� ��� )��>� �
� �� 2�� �� .
�� 3��
� ���	� �� M
� �:� �� �� ��� �� �$� �4 �$� �#
� �� 	� �J��� �B� �� ���!� ���� �>� ��� ��� ��� ��� ��� )� �>� �
� �� 2�� �� . +� ��� �7� �{� ��� �% -$� �4 $� �%��� ��
3��� @�����%����� M
��4 ����N��� 6� ���� �� 	��J����B��� ���!������>���� ������������ )��>��
��� 2���� . �
��� ����� -/��B��J +��������% ����u�������
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�������N���
	���
��� �$������� �� 3)��*� !��������2���#���( +��#� ��  ������� ������ ���!��#���( Q��#����1��� 6 @�����%���D���  � 	���
��� /������4 /��B��J +��#�
��
��� Q��#
��1��� �� �
�����������( ����%�T
��J 2���� . '��K��* 3����4�	��� 2������� ������������ ��!������6� ����#���P��? 6 @�����%���D���  �
0����;�!��� ���!������>���� 2���� . ������� 
���. �� 3$������4�	��� 2������� 	��#������7�����*�� )��>��
��� 2���� . 6 2���� . +��#
����2�����
��( 6

3��
����	��� M
��:��� ���������

.���8��
 ��-��� ���&���)��*��+�  �������O��P � >�������?��% 3Q3
��������� F (.) ���	
���� �������� ���� 
����������� ������������� ���	 X ���������� ����� ������������� 	��
���� 
������� � 3Q3Q3 >������?��%
���	�� ��� �� �� �	
 ���� � �!� �� "��� ���
� �� #�$� %�� �&� �' MX(t) ��� �(� �' �� �� !� �� X �)�� ��� �&� �* �� �+�� �� �� ���� �� ���� � ,� �	$ ��

-�����*�
���

MX(t) = E
[
etX
]
=

⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

∑
x

etxf(x), !�����.��.��*X,

∫
R

etxf(x) dx, !�����/������0X,

!� ��� ��$� ��� �1) (−h, h) #
�� �� �� t �$�� �2� �� �� �3 4$�� �� 
� �5�� �	 � �� ��� ��$ !� ��� 4��� �6�!� �� �� ���� �� ��� �1�� �� h > \ #�� �*�� �3
X �)�� ��� �&� �* �� �+�� �� �� ���� �� 7� ��� �	�� �*�
� �� #�� �8� �'9 �� ���� �:� �' ��� �1�� �� �� �;� � 
��8� �	�� �.� �(� �3 ���	 �� 
��5�� �	 � �� ��� ��$ �� �* $ ��� ���� ��

���$���' ����1)
�� $� 
� ����� ��� �� 4�� �3�� ��� ��� ��� �� 
$ {Xn, n ≥ R} 4�!� �+�� �:� �'� ���� ��� ��� ��� �� �� ����� ��� ��� �� � 6Q3Q3 >������?��%

"ε > \ ���3 4$���� #���*���3 "������	���*�
��� X 
����������� ������������� !��� $���8��(��3 <���(�����=$
lim
n→∞

P (|Xn −X| ≥ ε) = \,
�������3��
��� %���&��' Xn

p−→ X ����(��' ���� $� %9 )
"�� ��� �	�� �* $�� �8� �(� �3 X !� �� �� �	
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"F (.) 
��8�����/������0 >���2��' 4�!��(��3 4$���� #���*���3
lim
n→∞

FXn(x) = FX(x),
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$ 4$�!� �+�� �:� �'� {Xn, n ≥ R} �� ��� ��� �� ��� �� �������� �� 	� �� ���� ��� � � �! � RQ3Q3 ���8��O��P
�� "Sn =

n∑
i=R

Xi ) V ar(Xn) = σU < ∞ ) E[Xn] = μ !���� 4����6�!��� �������� ���	
�����7� �3 ) ?��2���� �.���
����� ,��	$

Sn − nμ

σ
√
n

d−→ Z ∼ N(\,R).

�n → ∞ !��� 
��'����


{Xn, n ≥ R} �� ��� ��� �� ��� �� �"#$%R&� ���� �'� �(� �)� �� �*��� �+� �� ��� ���� �� 	� �� ���� ��� � � �! � =Q3Q3 ���8��O��P
) �� ���� �� σU < ∞ @��'�� �	 �$) ) \ ,� ��� �8� �'�� ��� �� �� �� �� �	
�� ���7� �3 ) ?� �2� ��� �.� �� 
� ����� ��� �� 4�� �3�� ��� ��� ��� �� 
$ 4$�!� �+�� �:� �'�
4$���� ���* $ ��������� A��:��B� �� ) C���� �D�� 
����������� ����� ������ �� N(t)(t > \) ����� ��� �� ����� ,���� ��� �E�7��3 �Sn =

n∑
i=R

Xi

#���8��'9 "N(t)
t

p−→ θ "\ < θ < ∞

SN(t)

σ
√

N(t)

d−→ Z ∼ N(\,R),

)
SN(t)

σ
√
θt

d−→ Z ∼ N(\,R),

�t → ∞ !��� 
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lim
n→∞

P

(
Xn − μn

σn

< t

)
= Φ(t),
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��:��'���F��� ,�����8��'����� �� "G�����������!��� $� σU
n ) μn A��+���= ,��	$ �� �A��/$ ��$���'����� �/$ <�������' ���	
���� �������� Φ(t) !���
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R
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���� �������( -$��#
���� ����� 
��i��� �� ���� 	������� �
��� θ 
���� �������( !��� 2. ���# ���� !��� �� X 	��J����B��� 
���� �w���� ��
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�������	��� ��
��? 
�����#$��G��# 
����
��� �� θ ������ �� !�����m
��J 6� �
�����������( ����%�T
��J 2���� . �� 3)��*� ����u��5��� �����
ΘR 6 Θ\ ��$� �c ��!� ���� ��� �5� ��
� �# 6� !� �� �� Θ 
� ��� ������ �( ��� �P� �J -���� ��. ��� �%�T
� �J /� ��� �G� �&� �� ��
� ��
6 θ ∈ Θ\ �� �� _� ��� ��
� ���!� �� �� HR 6 H\ 6 -Θ\ ∩ ΘR = ∅ 6 Θ\ ∪ ΘR = Θ 2. �� !� �� -��
� �� "���� �G� �D� ��

� ��� �a �� 6 ���� �* �� 2. 
� ��� �i� �� T
��J ��� ��� ��. -$� �4�� �� ��� �P� �� "��� ΘR �� �# Θ\ 
� �� � 3@� ��� �7� ���	� �� �� �#�� ��� ��� �� θ ∈ ΘR

~����4�	��� Q��#
��1��� 
��# 0����;�!��� 2���� . 3$��7���������	��� _���
��� 0����; +��#�⎧⎪⎪⎪⎨
⎪⎪⎪⎩
H\ : θ ∈ Θ\ 
��D��; T
��J
HR : θ ∈ ΘR /������L��� T
��J.
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�������� "%$���� �������� "φ(x) =
⎧⎪⎪⎪⎨
⎪⎪⎪⎩

R x ∈ C

\ x ∈ C̄

%����
9 �������� ���� �H�H� ����� %����
9 4$���� 3Q6Q3 >������?��%

%$�� �� ) I)� J�� �' 4�� �K� �L <�� �(� ��� �=$ "<)$ J�� �' 4�� �K� �L <�� �(� ��� �=$ "��� �8� �M� �(� �N 4�!� ��� �O� �&� �� �� ���� �� � ��� �P� �M� �(� �N
-���'�����
��� ���	������� ���	
 ����� �!��� G�����������!���

π(θ) = Pθ(H\��) = Pθ(X ∈ C) = Eθ[φ(X)],

OC(θ) = Pθ(HR��) = R − Pθ(X ∈ C) = R − Eθ[φ(X)] = R − π(θ),

α = PH\(X ∈ C),

β = PHR(X ∈ C̄),

)
π = P (H\��|A��/��HR)

= R − β.

S



#�� �*�� �3 ��� ���
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"θ ∈ Θ\ ���3 4$����

Eθ[φ(X)] ≤ α,

#���*���3 ����������'�
��� α 4�#
$���'$ !��� 
��'����
9 $� %9 )

sup
θ∈Θ\

Eθ[φ(X)] = α.
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�� H\ %�����
9 4$���� �A��/$ HR : θ = θR ����$���� �� H\ : θ = θ\ %����
9 I���F��'$ R���3 ��������� f(x; θ)

-����� ���	������� ���	
 ����� �!��� \ ≤ k < ∞ ���3 4$���� φ %����
9 �������� ���* $ "HR ����$����

φ(x) =

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎩

R f(x; θR) > kf(x; θ\)

γ f(x; θR) = kf(x; θ\)

\ f(x; θR) < kf(x; θ\),
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